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Two cars are moving toward each other with equal
velocities of 20 m/s. Initially, they are 2000 meters
apart. A bee, sitting in the window of the first car,
starts flying back and forth between the two cars at a
speed of 50 m/s as soon as the cars start moving.
How much distance does the bee travel before the
cars crash into each other ?
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Ship A moves due north at 40 km/h, while ship B moves due west at 30 km/h, Find the
relative speed between the two ships.
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4.

A box of mass 5 kg sits at rest on a horizontal floor. A vertically upwards force of 20 N is exerted on the box by
someone trying to lift it. What is the magnitude of the normal force exerted by the floor on the box while the

20N upwards force is being exerted?
5 kg 39 G AF G PN (IS 7 TaFF AR | AFOE (S T (FC GG 20 N 99 Gl

TEwond THIA 79 ACHT THF 2T I 1 20N THIYA I ATAHE AN ACHT AT (R TR ST T4l
gfeey 37 W F97
]‘zoN

A - P S | | {4 S .
Skg Activate Windows
Go to Settings 1o ac




